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General Instructions :

(1) The question paper comprises of two sections, A and B. You are to
attempt both the sections.

(it)  All questions are compulsory.

(iii) There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Questions number 1 to 6 in Section A and 17 to 19 in Section B are
short answer type questions. These questions carry one mark each.

(vi) Questions number 7 to 10 in Section A and 20 to 24 in Section B
are short answer type questions and carry two marks each.

(vii) Questions number 11 to 14 in Section A and 25 and 26 in Section B
are also short answer type questions and carry three marks each.

(viii) Questions number 15 and 16 in Section A and question number
27 in Section B are long answer type questions and carry five
marks each.
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SECTION A
T A

1. What change in colour is observed when white silver chloride is left
exposed to sunlight ? What type of chemical reaction is this ? 1

¥ F oy ¥ vEd fAeR FANse @ W W § 3 wiadd fEw wed
2 ? T 59 yor & wuafe e Siar @ 2

2. Which gas is generally liberated when a dilute solution of hydrochloric
acid reacts with an active metal ? sl

frdt ofhg o1g & WY 99 ERSIFANG A & faorad & SR 89 W W
Fi Y e @ 2

3. Arrange the'following metals in a decreasing order of activity : 1
Na, K, Cu, Ag '

Frfafiad srgell @1 & wed g e % w9 § fAfay
Na, K, Cu, Ag

4. What kind of mirrors are used in big shopping stores to watch

activities of customers ? ' 1

IE gl F AEH F FEER W TR WH F AT fFE YR F duil # swEm
gar g ?

5. Draw a ray diagram to determine the position of image formed of an
object placed between the pole and the focus of a concave mirror. I

foFell sraae T % HF 9O BEHE & d W e @ e gt oaam, W fam
& fou & fRr smw difaw |

6. What will be the observed colour of sky on a planet where there is no
atmosphere ? Why ? 1

U 7 9 |, Sl B IEvSH A &, § @A W W F O @ feww am
I H 2
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7. What is meant by ‘water of crystallisation’ of a substance ? Describe
an activity to show that blue copper sulphate crystals contain water of
crystallisation.

forlt wed & ‘Freeer s @ w @i g @ 2 U U9 fhamhed @ aui dif
St 7@ o wE 6 A FW ke & fRed § e S g @ |

8. What is a redox reaction ? When a magnesium ribbon burns in air
with a dazzling flame and forms a white ash, is magnesium oxidised
or reduced ? Why ?

Iqgee- e (i) sfufmar 59 wed € 2 @ FeifvEm fad A eweer
SOl & | Seal @ 3N TH vod 99 U@ % ®Y § S48, df ddB8y fh 39
sffrar & TN F g1 BT 8, IUEAT IgEl AT 2 g4 ?

9. The refractive index of water is 1-33 and the speed of light in air is
3 x 10° ms™". Calculate the speed of light in water.

S SUEeAE 1-33 8 3 9 F whw # ol 3 x 108 ms™ @ | A H vy
H E A G I |

10. (a) What is the shape of the graph obtained by plotting potential
difference applied across a conductor against the current flowing
through it ? :

(b)  What does the slope of this V-1 graph at any point i*epresent 7]

(F) o 90s R & G0 & = e T e Jw 3§ e faee
U % A9 @i T A FOSHE e el 2

@ WV-17% & fodl fag | yaumar () 1 guiar g 2

11. Give reasons for the following observations :
(i) Ionic compounds in general have high melting and boiling points.

(i1)) Highly reactive metals cannot be obtained from their oxides by
heating them with carbon.

(1ii)) Copper vessels get a green coat when left exposed to air in rainy
season.

31/2/1 4



frafafad sEciedl & FRo dfST -

@)
(i1)

(iii)

12. (a)

(b)

()

(@)

13. (a)
(b)
(%)

(@)
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rafs AT & TS U6 FagHiE Yo 9gd 3% A F

sfa frarefiar ergell &I, 3% Sifeassl & FEF & 94 WA F A T&
fepam s gepar |

gyt g ¥ g1 # Gonr Dred W HRW & FeAl W T § W 99 I 2 |

What are ‘grdups’ and ‘periods’ in the ‘periodic table’ ?

Two elements M and N belong to groups I and II respectively and
are in the same period of the periodic table. How do the following
properties of M and N vary ?

(1) Sizes of their atoms

(i)  Their metallic characters

(iii) Their valencies in forming oxides

(iv) Molecular formulae of their chlorides

‘Fad ol § W 9w wEd = A 8 2
aaamaﬁtN.anaﬁwuﬂ%@ﬁmﬁﬁmlaﬂruw%m
£ 13 g qt § fefafee on # ufeds fFE wer @2

(i) ] & AEHR

(i)  gfes @99

(i) ~ SffFEE M. § T TAISIhaTT

(iv) 3% FANGE & T

What is Presbyopia ? State the cause of Presbyopia. How is
Presbyopia of a person corrected ?

What is meant- by power of accommodatidn of the eye of a
person ?

SU-TRET F AN R 2 W U AU ¥ A R 2 fRd =fe W@
SU-gEEd ® HeNed e yER fear S § 2

fedt =afts & 99 1 wiee gwar ¥ T I @ @ 2
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14. (a)

(b)

(%)

(@)

15. (a)-

(b)

(c)

31/2/1

Draw a schematic labelled diagram of a domestic wiring circuit
which includes '

(1) a main fuse
(ii) a power meter
(iii)) one light point

(iv) a power output socket

- In this circuit, on which wire of the circuit is the mains on/off

switch connected ?

W foge g & ©F Amifed e sRw @itve fed e
1) e

(i) fage omd Hex

(i) TH FHR UEE

(iv) U R (feRq) < wifwe

59 vRey § A /s o TReT # R 9% S ST d @ 2

The structurai formula of an ester is

H O H -H
- F e
H-C-C-0-C-C-H
I [
H H.-H

Write the structural formulae of the corre‘éponding alcohol and the

acid.

(1) Mention the experimental conditions involved in obtaining
ethene from ethanol.

(ii))  Write the chemical equation for the above reaction.

Explain the cleansing action of soap.
"OR

O



(a) Write the names of the functional groups in :

@) §>C=O

(ii) §> C=0

(b) Describe a chemical test to distinguish between ethanol and
ethanoic acid. :

(¢) Write a chemical equation to represent what happens when
hydrogen gas is passed through an unsaturated hydrocarbon in
the presence of nickel acting as a catalyst. : : 5

(%) Q?ﬁ'{kd{%]'{-i(t{'-ﬁﬂﬁé'
H- O R - T
&l k]
H -0 -C=0-050~W
I 500
- H Ho: H
Wﬁﬁﬁﬁﬁam%mwwmﬂjml-
@ () T H T G A ey fafad @ oavE fifve |
(i)  3TY SfufR & SuH e THEE g ey |

() TEA H GEE AR F THHRT |

gan
(#) fafafea & sufed yad 998 & 9m fafew
o a0

N
(ii) H>C=O

(@) mmmmﬁ%mﬁmwmﬁammm
FHIfST |

M @ fe IO & SuRefd § fR owgw eRSiEEe # eEeied 19 ared
F S @ A 7 BT 8, 9% ¥4 & o us yenfie e fafew |
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16. (a)

(b)

(a)
(b)

(=)

31/2/1

Two resistors R; and R, may form (i) a series combination or (ii) a
parallel combination, and the combination may be connected to a
battery of six volts. In which combination will the potential
difference across R, and across R, be the same and in which
combination will the current through R; and through R, be the
same 7

For the circuit, shown in this diagram,

5Q
AN
7Q
—VVWWA————— .
-’\N\N\/“
10 Q
|
11|+
6V
calculate

(1) the resultant resistance
(i)  the total current
(iii) the voltage across 7 Q resistor
OR
List the factors on which the resistance of a conductor depends.

A 4 kW heater is connected to a 220 V source of power. Calculate

(1) the electric current passing through the heater.

(ii) the resistance of the heater.

(iii) the electric energy consumed in a 2 hours use of the
heater.

aleﬁTR2Hﬁ@?ﬁﬁﬁmmﬁﬁTé (i) Ao &, T
(ii) ¥4 %F ¥ | 3 GANE H 6 dle & 920 ¥ g | g e |
R, ﬁtRzﬁm-mﬁwmwﬁmaﬁ?ﬁmﬁRlaﬂtR #, forge =
mmw%’ﬂﬂ7



(@) 39 fF ¥ fu W aRkey

5Q
b AAAAA
7Q
SRS Y 3.7 RN,
AANAAA—
10 Q
N Y
[l ]y
[1]
6V
% fau 9fieem FifsT
(i)  oRem sy
G) 3w
(iii) . 7 Q ¥Rys & Gl & 99 Gy (dew)
Sgar

(F) fodt wcs F1 sy fFa-fE sre w ik o @ 2 _

(@) TF 4 kWS @ H 220 VS g &0 § Sie @ @ | 9fiwem Ffe
() X f v e O W A
(i)  geX 7 Fouy |
(i) 29 €RX F WA ¥ U fagq = |

SECTION B
T 9

17. Which disease is caused in human beings due to a depletion of ozone
layer in the atmosphere ? | ; 1

A W # agEved § afd F agEd § s A0 @ S 8 2

18. Whiéh endocrine gland secretes the growth hormone ? 1
Sl SfaemEt afw gfg EEE 1 EE e g 2
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19.

' 20.

21.

22,

23.

24,

25.

26.

Which one of the following actions on touch is an example of chemical
control ? -

Movement on the touch-sensitive plant
Movement in human leg

frefafga g7 W afEe ¥ ¥ WEEHad B SERIT Sl 32
w- g e (gEE) # i
e 2

Draw a labelled schematic diagram. of a biogas plant. What use is
made of the slurry left behind in biogas plants ?

T TG W 5 AW oI aE QT | aEng gad § 9 e wl
= ITAT BT g ?

List any four limitations of the energy obtained from oceans.

Wﬁﬁm@ﬁa&ﬁmﬁﬁﬁ‘s‘wwm|

How do advantages of exploiting natural resources with short-term
aims differ from the advantages of managmg our resources with a
long-term perspective ?

3ed-31afy 3RTA A I & AU wpfoe dEreEl F SiUgy Iwn oEl-sEty &
FH H W@ I T IRESEeT & o ¥ 59 9eR e g g 2

What is meant by wild life ? How is wild life important for us ?

o9 Sed 9 F41 A g 2 TR fAY 98 @ me W@l § 2

Draw a diagram of the longitudinal section of a flower and label on it
(i) stigma and (ii) ovary.

?ﬁﬂéﬂ??ﬂz?ﬂ@aﬁ@@hﬁmm (i) afermr 3R (i) sfeTv™ sifhd
?mr'f!\aﬂ |

What is a reflex action ? Describe the steps involved in a reflex-action.

yfaadl fm o ddt & 2 foedl fear § gWfwd 9wl & avi ST |

What are fossils" ? Describe the importance of fossils in deciding
evolutionary relationships between organisms.

Shereq =1 § 2 aﬁ@rﬁﬁm@awawﬁamﬁﬁm%nﬁmw
#w
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27. (a) Draw a diagram of the human respiratory system and label on it
Alveolar Sac, Bronchioles, Larynx and Trachea.

(b) How are the lungs designed in human beings to maximise thé :
~area of exchange of gases ? BT,

OR

(a) Draw a schematic representation of transport and exchange of
oxygen and carbon dioxide during transportation of blood in
human beings and label on it :

Lung capillaries, Pulmonary artery to lungs, Aorta to body,
Pulmonary veins from lungs.

(b) What is the advantage of separate channels in mammals and
' birds for oxygenated and deoxygenated blood ? : 5

F) Wwﬁi?ﬂwaﬁ@@ﬁqaﬁxwwaﬁﬁmaﬁﬁ, vafE, &3
3R TarEe AHifad HifST |

(@) ﬁ%%ﬁﬂﬂ%%ﬁ@i%mﬁlﬁﬁw%mwﬁwmm
a2

Agar

(F) wFa H T 84 & A oIS a9 Fed SEAGERES & YRaed a4
fafea & aearers feuer cuifar gen emw difew 3R 39 W frafafaa
F AHifHRT FIST
TEEH  hiYThT, yﬂﬂ%mww YRR A AREAA, FOEE W
 ErEHE R

(@) wHEl 79 ol # Siedsa qg1 faeiiaseta $eR & faT gas 99 #71
AR 7

31/2/1 . 11 ' 4,450



